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Reinforcement Learning Applied

to Continuous Problems

Satoshi SHIBATA

Abstract-

Akimoto KAMIYA

The reinforcement learning is drawing attention as a technique

that can solve problems automatically and adaptably. With the

reinforcement learning, a series of actions is learned by maximizing a reward

signal through trial and error. In general, the reinforcement learning is

used for discrete problems. In order to solve real-world problems that

tend to include continuous numbers, a couple of methods which is capable

to deal with continuous problems has been proposed so far. In this paper,

we discuss how the learning performance will be affected by changing the

number of features within a linear architecture method, a type of

method applied for solving continuous problems.

Key Words: reinforcement learning, function approximation
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